Tafel.

l | |
Zahl Aus den ahreeheinlicher
Metall der Biegungen LS L Schaefer Katzenelsohn Grey
Versuche | ethaltenes ¢ Fehler 3< 1071
I = — |
Platin s 12 | 1:073¢10—4 | 4 0:07 =6-50, | 0-732) 101 0+ 89 10—4 —
. Palladiom. .. ... 18 2-05% 104 | =005 = 2-50/y 197910~ # — i
g S e 18 | 2:643¢10—4 | +=0°012 =050, | 2-25310™4Eisen| 23310~ Eisen 247310~ Stahl
= Nrakrelti b L2 176 3-247x10—4 | H=0-043 = 1320, | 2° 4633 10— 3+24x10-4 Neusilber —
=
Kupfer ... ..... 48 | 3:593¢10~4| 4= 0:05 = 1-449/5| 3-627 10~ — —
Goldl et e 4 32 | 400104 | 0187 — 4:579%, — - -
! : ‘ 4 :
.‘ SHBeL e 42 | 7-483¢10—4| -0-31 =4-20 | 7:6531074 = —
i Aluminium. . . .. 39 |19:983¢10—% | 2032 =160/ | 21-32)(1074 LGEinRC 1= —
i
1 Zinkedo B0 [34:9 3104 | £ 0-47 = 1-40, — —
| =)
o




